MAT 3351
Devon. 2— Solyhons

Sak g =95 9. ) ) Y| - @ pent dnine Qe weodile
Corummae 3 - bs -&g / E(bx:/s) VM(L):'G;)VM(S):GRI

L g

Donc M= E(‘J) :ﬁ'% <k Z:V“(.?_):o‘btge"+dtl'

a) E(ﬁ.)zE[fn;:)] ~e/m =B (e's[jo;..;0]-
E(§\=E[%]: Qﬂ%:ﬁ

b) Var(y,) = \,M(f;‘}): e'z e = G, + O

Q) Cw(ﬂ;‘,:j.'_)a fj'z—@x :d:

=\ _ e\ s i _ > N 2z

d) Var(3) _vM(A&g) = =5 ezg,)_é_f_@, 4+ rv%
- O-LL-(- U_z/n

) 3 (9:-5) = 9Cy. E'[lﬁ_‘_C_? =L YU\ c: + m'CM)

T8y~ r~1
= __L.[h Ca*l + ﬁ1€(cﬂ - Oo*
R~

‘C i . c Vg
3 9A’x SSe _S..i_f_ C‘C&ﬁw&kww

g* * G"';a:?'
leow‘medndn.‘xédaweak' bl(-g'ri):”—" -)-'-Pm—-
el de Non Centralds’ cak ’A‘_«_-C_‘.g::ﬁtﬁ_'_c_s: O~

2 \ v >
%) b ¥ Z (9:3)= 3%y fj'CCg ek fowckion oo Cy, o
que Cy et 34 senb Gnddpen dauls. 2 bt gt

de monbren que C € =0, gui eoh bt Uad,




Devin 2 — Solukion (Dt )
A.\%
&) £(5)=6(e2]~L¢ -tot?<+'f3<x:o(-)-Fi
w
\/w\(‘:)-— eZ.c--';[ko' +9<‘G'J_-_q;‘+_aj

) Sk F“[ le] - z= bél—:-‘(-g\:'f-"paz [BE-A

: e'se) (%S O
\/M(Z): F'=fF = éﬁfc .\ZZI:.]: [Q"'“ \]
Kt

e'z< 'TE o ¢ XL
C ‘K xCp =L C(d(-lr Px)
C) E(@) ('X Y {a( 78 - .
F”‘C"‘s . Van :x.CZCx-:- ”‘(‘" )
= = \ j\Cxﬂ Cj]
B C') A lucy - =
o [des = ey ‘m@ ® e T
d.\ G —'ﬁ_z \A (A— c C:gﬁ_C)
5 = C
([C _ Cx ™ J; K——L j .

- ek Ap=pA=.
‘ pr =S A
E"( = Az +M7A“] Onu'C

rewcte, de g ‘Z(Ca =G

A 2k D-w\v\ﬁw ok Adews po P

~kc-— hxiﬁ ~R-l-1= k2 ‘
%O il .,) i{;‘Ai_a-pM«j
= -2

M A'.L ]S € -
-} w-2 Gl_ ( ,\f)g YN

o )

K-l \ UOX&QW
A (G T TP = f | Gaion

:"26)" GA‘%G"(GI 4 );-. (7 e 2 IAC_-:O.

— €
Lo parawthie A wom camkvalihy’ eok f)"-—’i}:&
wtareun de o e,,t(xxc-ocx Y L'eo pernr
) L:,m condoan ek (:xe~z7r)(o¢€\-(>n) a((x'xce-?-?‘t)

h -
o Z(¥ “‘1‘\ lw (mz,c‘;‘_'__,_,.)x:.o




Devvin 2 ~Solution | A7) . p3
d.20

A A‘é kel {gv':,—. f’\} ) E(Z}? A(Mﬂ,‘) = H:H-[e:-y
v N
\/m(é\, _a*A'A = Gbi Tu., g.T.:_]
2fn_, o

b) E(‘i!:“’j): 'LC,\_‘ - ._1‘::’(_&‘\- (E-—P‘) =§§n-|
V('z\lg):o‘[‘_rm R NNTRYY.

%: Ip‘_‘ —_— 2"‘\( eh-l

Moylmrt o ek A makiic Ao covaramc OJ‘B .
= wlﬂw,m; =T, 7 Q&k‘ha’{‘xf*
¢L v -{ n -

L veonalone d deqgeia A OJeid oot k& ((5;_ atB);tnezn-\
\—&Ma\n ean Cennalilz et N = O PVt
E(0N=0- Pusgme ottt dowin wtrion e drpend fas
de 7, Qekndependante de . |



